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KVS PRT General English Memory 
Based Questions 

 
Q1. The synonym of Flimsy is- 
(a) Unsubstantial 
(b) Sturdy 
(c) Firm 
(d) Tough  
Ans.(a) 
 
Q2. Select the one which best expresses the same 
sentence in Passive/Active voice. 
Those strawberries tasted sour. 
(a) Those strawberries were sour when they were 
tasted. 
(b) That strawberry was sour when tasted. 
(c) Those strawberries were sour when it was 
tasted. 
(d) Those strawberries were sour when tasted. 
Ans.(a) 
 
Q3. Select the one which best expresses the same 
sentence in Indirect/Direct speech. 
My father said to me, "Don't talk to your teacher like 
that." 
(a) My father warns me not to talk to my teacher 
like that. 
(b) My father warned me not to talk to my teacher 
like that. 
(c) My father warned me not to have talked to my 
teacher like that. 
(d) My father warns me not to have talked to my 
teacher like that. 
Ans.(b)  
 
Q4. Choose the appropriate antonym for the given 
words 
UNCANNY 
(a) fantastic 
(b) ordinary 
(c) logical 
(d) wise 
Ans. (b) 

Q5. Choose the type of clause in the sentence: 
Just as he entered the room the clock struck. 
(a) Noun clause 
(b) Adjective clause 
(c) Adverb clause 
(d) None of the above 
Ans.(c) 
 
Q6. Fill in the blank with the correct preposition 
We are all accountable _____ team leader for our 
work on this project. 
(a) of 
(b) with 
(c) for 
(d) to 
Ans.(d) 
 
Q7. Fill in the blank with correct adjective: 
Take ______ care of your father's health. 
(a) More 
(b) Some 
(c) Great 
(d) Good 
Ans.(c) 
 
Q8. Fill in the blank with correct adverb: 
She once met me in China; I have not seen her 
_______. 
(a) After that 
(b) Lately  
(c) Since 
(d) Then 
Ans.(c) 
 
Q9. Identify the segment in the sentence, which 
contains the grammatical error. 
To be interested in the changing seasons is a happy 
state of mind than to be hopelessly in love with 
spring. 
(a) To be interested 
(b) a happy state of mind 
(c) hopelessly in love with spring 
(d) in the changing seasons 
Ans.(b) 
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Q10. Identify the segment in the sentence, which 

contains the grammatical error. 

We are witnessing the worse level of income 

inequality in decades. 

(a) in decades 

(b) the worse level of 

(c) income inequality 

(d) are witnessing 

Ans.(b) 

 

Q11. Choose the correct form of adverbs 

I accepted the new task ____________. 

(a) carefully 

(b) greatly 

(c) methodically 

(d) willingly  

Ans. (d) 

 

Q12. Choose the correct form of adjective for the 

given sentences. 

_________ student had a lame excuse to give for 

coming late to class. 

(a) Another  

(b) All 

(c) Other 

(d) Each 

Ans.(d) 

 

Q13. Choose the correct alternative and fill in the 

blanks in the following sentences: 

It was __________ whom you met last night. 

(a) my 

(b) me 

(c) I 

(d) mine 

Ans. (c) 

 

Q14.  Choose the correct article 

I am making my parents ____________ Christmas 

present that I will send through __________ mail. 

(a) a, the 

(b) a, a 

(c) an, a 

(d) a, an 

Ans. (a) 

Q15. Fill in the blanks with appropriate 
prepositions. 
Are you sorry _____ what you have done? 
(a) with 
(b) for 
(c) by 
(d)over 
Ans. (b) 
 
Direction (16-20): Read the following passage 
carefully and choose the most appropriate 
answer to the question out of the four 
alternatives. 
The Russian writer, Leo Tolstoy, gave up a life of 
wealth and comfort in order to help the poor. He 
taught that all types of violence were wicked and 
that all people ought to live together in love and to 
cooperate with one another. Gandhi was very much 
interested in his writings and teachings. Indeed, the 
two great men must have been alike in many of 
their ideas. 
In one of his stories Tolstoy describes a certain 
village in Russia where a peasant named Ivan lived. 
Everyone thought that he must be a very happy 
man, for he was comfortably off and lacked nothing 
that he needed. He had three sons, all of them were 
able to work. The eldest was married and the 
second was going to be married and the youngest 
was able to look after the horses. His wife was an 
extremely capable woman and his daughter-in-law 
was steady and hard-working. Ivan’s old father 
lived with them, but he was now an invalid and had 
no longer any control over his son. Their fields 
produced good crops and they had quite enough 
food for their own needs. All their clothes, coats, 
shirts, trousers, socks and dresses were made by 
the two women. Unfortunately, however, the 
members of the family were not nearly as 
contented as they ought to have been. This was 
because of a quarrel between them and their next-
door neighbour, limping Gabriel. 
 
Q16. What was one of the main teachings of Leo 
Tolstoy? 
(a) Education is the first and foremost necessity to 
live an independent life. 
(b) Violence was evil and humans need to cultivate 
more love and cooperation amongst themselves. 
(c) Truth always triumphs over falsehood. 
(d) Life should be a work-play balance. 
Ans. (b) 
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Q17. How did Tolstoy show his sympathy for the 

poor? 

(a) By giving parts of his wealth to charities. 

(b) By founding a financial aid institution. 

(c) By giving up his own wealthy lifestyle. 

(d) By giving the poor a place in his home. 

Ans. (c) 

 

Q18. Why did everyone assume Ivan lived a happy 

life? 

(a) Because he had a cheerful face. 

(b) Ivan was a famous celebrity. 

(c) He was comfortably off. 

(d) He followed all of his passions. 

Ans. (c) 

 

Q19. According to the passage, what role did Ivan’s 

youngest son play? 

(a) He tended to the horses. 

(b) He took care of the kids. 

(c) He was a farmer. 

(d) He fixed cars and other vehicles. 

Ans. (a) 

 

Q20. What was the reason for Ivan family’s 

discontentment? 

(a) They were short on cash. 

(b) They were fighting with their next-door 

neighbour. 

(c) They were fighting a major illness. 

(d) They were in trouble with the government. 

Ans. (b) 

 

KVS PRT General Hindi Memory 

Based Questions 
 

Q1. ‘सीता सखियों सखित पुष्प वाटिका गयी’- वाक्य में 

रेिाांककत अव्यय प्रयोग खिम्नखिखित में से ककस भेद का 

उदािरण िै- 

(a) समुच्चयबोधक  

(b) किया खवशेषण  

(c) सांबांधबोधक  

(d) खवस्म्य्याकदबोधक  

Ans.(c) 

 

Q2.  “तीि बेर िाती िै वो तीि बार िाती िै” अिांकार को 

पिचाखिए –  

(a) यमक अिांकार  

(b) अिुप्रास अिांकार  

(c) उपमा अिांकार  

(d) शे्लष अिांकार  

Ans.(a) 
 

Q3. खिम्न में से कौि सा सूरज का पयाायवाची ििी िै –  

1. रखव और भास्म्कर  

2. कदिकर  

3. प्रभाकर  

(a) केवि 1 & 2 सिी िै  

(b) केवि 2 & 3 सिी िै  

(c) केवि 3 & 1 सिी िै  

(d) उपरोक्त सभी पयाायवाची िै   

Ans.(d) 
 

Q4. ’दीर्ा’ का खविोम शब्द खिम्न में से क्या िै-  

(a) िर्ु  

(b) ियबा  

(c) पतिा  

(d) मोिा  

Ans.(a) 
 

Q5. ‘डाक्िर िे रोगी को दवा दी’ कारक का भेद खिखिए – 

(a) कमा  

(b) सयप्रदाि  

(c) कताा  

(d) अपादाि   

Ans.(b) 
 

Q6. अर्ा की द्र्सस्म्र्ी से असांगत मुिावरे का चयि कीखजये-  

(a) आँि का पािी खगर जािा- बेशमा िो जािा  

(b) आँिों पर खबठािा-बहुत आदर-सत्कार करिा  

(c) आँि का काजि चुरािा-सफाई से चुरािा  

(d) अरमाि खिकाििा-अपिी िी बात करते रििा  

Ans.(d) 
 

Q7.  खिम्न में से कौि सा पक्षी का पयाायवाची ििी िै –  

(a) खिज  

(b) खविग  

(c) अांडज  

(d) शून्य  

Ans.(d) 
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Q8. कौि सा शब्द जाखतवाचक सांज्ञा ििी िै –  

(a) सुदर  

(b) जवाि  

(c) मिुष्य  

(d) जवाि   

Ans.(a) 

 

Q9. “जो’ करेगा ‘सो’ भरेगा, रेिाांककत शब्द कौि सा सवािाम 

िै –  

(a) गुण वाचक सवािाम  

(b) सांकेत वाचक सवािाम  

(c) किया खवशेषण  

(d) सयबन्ध वाचक सवािाम  

Ans.(d) 

 

Q10. ‘पुस्म्कािय में बहुत-सी ककताब ेिै’ , इस वाक्य में कौि-

सा कारक िै ?-  

(a) सांबोधि कारक  

(b) अपादाि कारक  

(c) अखधकरण कारक  

(d) करण कारक  

Ans.(c) 

 

KVS PRT General Awareness & 

Current Affairs Memory Based 

Questions 
 

Q1. Sahitya Akademi Awards 2022 has given for 

Tamil Language to ___ 

(a) Manodharmaparagam 

(b) Madhuranthakam Narendra 

(c) M. Rajendran 

(d) Kajli Soren 

Ans.(c)  

 

Q2. Who is the Music Director of the song “Natu 

Natu” from the movie RRR? 

(a) M. M. Keeravani 

(b) A. R. Rahman 

(c) Devi Sri Prasad 

(d) All of the above 

Ans.(a) 

 

Q3. Who has been awarded for Saraswati Samman 

in 2021? 

(a) Padma Sachdev 

(b) Sitanshu Yashaschandra 

(c) Ram Darash Mishra 

(d) Vasdev Mohi 

Ans.(c) 

 

Q4. Who Appoints the Chief Minister? 

(a) President 

(b) Governor 

(c) Prime Minister 

(d) Voice President 

Ans.(b) 

 

Q5. Lakshya Sen is related to which sports? 

(a) Wrestling 

(b) Badminton 

(c) Hockey 

(d) Cricket 

Ans.(b) 

 

KVS PRT Reasoning Ability Memory 

Based Questions 
 

Q1. Which of the following correctly represents 

the relationship between.  

1. Swimmer 

2. Engineer 

3. Singer 

 

(a)  

 

 

 

(b)  

 

 

(c)  

 

 

 

(d)  

 

 

Ans.(d) 
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Q2. In a language FIFTY is written as CACTY, CAR 
as POL, TAR as TOL, How can TARIFF be written in 
that language? 
(a) TOEFEL 
(b) TOEFDD 
(c) TOLADD 
(d) TOLACC 
Ans.(d) 
 
Q3. There are five houses P, Q, R, S and T. P is right 
of Q and T is left of R and right of P. Q is right of S. 
Which house is in the middle? 
(a) P 
(b) Q 
(c) T 
(d) S 
Ans.(a) 
 
Q4. If ‘P’ is daughter of ‘Q’ and is the mother of ‘R’. 
How is ‘Q’ Related to ‘R’ ? 
(a) Father 
(b) Son 
(c) Grandparent 
(d) Grand child 
Ans.(c) 
 
Q5. In following question some statements 
followed by some conclusions are given. Taking 
the given statements to be true even if they seem 
to be at variance from commonly known facts, 
read all the conclusions and then decide which of 
the given conclusion logically follows the given 
statements. 
Statement I : Some bags are pockets. 
Statement II : No pocket is a pouch. 
Conclusion I : Some bags are not pouches 
Conclusion II: Some packets are bags. 
(a) Only I follows. 
(b) Only II follows. 
(c) Both follow. 
(d) Neither I nor II follow. 
Ans.(c) 
 

KVS PRT Computer Literacy Memory 
Based Questions 

 
Q1. VDU stands for: 
(a) Visually Deleted Unit 
(b) Visual Display Unit 
(c) Visually Displaced Unit 
(d) None of these 
Ans.(b) 

Q2. First Generation of Computer was based on 
which technology? 
(a) Transistor 
(b) LSI 
(c) Vaccum Tube 
(d) VLSI 
Ans.(c) 
 
Q3. Which of the following is a Primary Memory? 
(a) RAM 
(b) Hard Drive 
(c) DVD 
(d) Pan Drive 
Ans.(a) 
 
Q4. EPROM stands for: 
(a) Erasable Programmable Read Only Memory 
(b) Erasable Programming Read Only Memory  
(c) Electrical Programmable Read Only Memory 
(d) Electrical Programming Read Only Memory 
Ans.(a) 
 
Q5. Which extension is used in Microsoft Word 
Document? 
(a) docx 
(b) dot 
(c) dotx 
(d) exe 
Ans.(a) 
 

KVS PRT Perspectives on Education 
and Leadership  Memory Based 

Questions 
 
Q1. The right to free and compulsory education for 
children between the age group 6 – 14 has been 
included in the Indian Constitution as: 
(a) Article 26 
(b) Article 15 
(c) Article 45 
(d) Article 21A 
Ans.(d) 
 
Q2. National Education Policy 2020 proposes a 
pedagogical shift from _________________ to 
______________ 
(a) constructivism; behaviorism 
(b) rote learning; conceptual understanding 
(c) inquiry-based learning; drill and practice 
(d) assessment for learning; assessment of learning 
Ans.(b) 
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Q3.  The correct statement about leadership is- 

1. The term “Leadership” has come from the word 

“lead”, the verb “To lead” means to govern and 

command others  

2. Leadership is the process of influencing the 

behavior, attitudes, activities, and efforts of an 

individual or a group for achieving common goals 

(a) Only 1  

(b) Only 2  

(c) Both are correct  

(d) Both are wrong  

Ans.(c) 

 

Q4. As envisioned in NEP 2020 that prior to the age 

of ____,  every child will move to a “Preparatory 

Class” or “Balvatika” 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

Ans.(c) 

 

Q5. Which article of RTE, talks about SMC? 

(a) Article 21 

(b) Article 22 

(c) Article 23 

(d) Article 24 

Ans.(a) 

 

Q6. The objective of FLN is to Make learners 

competent in doing meaningful reading and writing 

by the time they enter grade __________. 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

Ans.(a) 

 

Q7. ECCE stand for- 

(a) Early Childhood Competency and Education 

(b) Early Childhood Care and Education  

(c) Early Children Care and Education  

(d) Early Childhood Care and Education for All 

Ans.(b) 

Q8. The full form of DIKSHA is- 
(a) Digital Infrastructure for Knowledge Sharing 
and Advancement 
(b) Digital Infrastructure for Knowledge Sharing 
(c) Digital Infrastructure for Knowledge Sharing for 
All 
(d) Digital Infrastructure for Knowing, Sharing and 
Applying 
Ans.(b) 
 
Q9. According to Kohlberg ‘good boy morality’ is 
found in this stage -  
(a) Pre - conventional level - stage 1  
(b) Pre - conventional level - stage 2  
(c) Conventional level - stage 3  
(d) Conventional level - stage 4  
Ans.(c) 
 
Q10. According to Vygotsky ‘Social speech’ in 
children starts at the age of -  
(a) 1 - year  
(b) 2 - years  
(c) 3 - years  
(d) 4 - years  
Ans.(c) 
 
Q11. In this stage of Piaget’s cognitive 
developmental stage ‘Animism’ is noticed -  
(a) Formal operational  
(b) Concrete operational  
(c) Sensory-motor  
(d) Pre-operational  
Ans.(d) 
 
Q12. Which of the following technique has been 
proposed by Lev Vygotsky for teaching primary 
school children? 
(a) Instructional scaffolding 
(b) Reinforcement 
(c) Equilibration 
(d) Programmed learning 
Ans.(a) 
 
Q13. Which of the following is an outcome of the 
National Policy on Education, 1986?  
(a) Rehabilitation Council of India 
(b) Right to Education Act 
(c) Operation Black Board 
(d) Ladli Yojana 
Ans.(c) 
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Q14. The purpose of personal guidance is to help 

the individual in: 

(I) Physical development 

(II) Emotional development 

(III) Social development 

(a) Both I and II 

(b) Both II and III 

(c) Both I and III 

(d) I, II and III 

Ans.(d) 

 

Q15. The RTE Act provides that teachers should put 

in 45 working hours per week. Which of the 

following is not included in these working hours?  

(a) preparation time 

(b) TLM preparation time 

(c) Traveling time 

(d) Transacting the regular time table 

Ans.(c) 

 

Q16. In the context of assessment, what kind of 

report card for student has been proposed in 

National Education Policy (NEP) 2020? 

(a) Report cards specifying relative performance of 

the student in comparison to others 

(b) Report cards of students performance in paper 

and pencil tests through the year 

(c) 360 degree multi-dimensional report card 

(d) summative uni-dimensional report cards 

Ans.(c) 

 

Q17. Full form of NEP 

(a) National Education Policy 

(b) Nationalist Educational Policy 

(c) National Educational Policy 

(d) National Educational Policies  

Ans.(a) 

 

Q18. The primacy of NCF in curriculum 

development and reform is:  

(a) focussing on socialization of children.  

(b) teacher-centered learning.  

(c)  making curriculum inclusive and meaningful to 

children.  

(d) making children thorough with textbooks.  

Ans. (c) 

 

Q19. NCF 2005 1975, 1988A, and 2000 ------ are 

published by. 

(a) MHRD 

(b) NCERT  

(c) UGC 

(d) NPE  

Ans. (d) 

 

Q20. To treat the misbehavior of the child, the 

teacher should resort to-  

(a) Emotional support  

(b) General Counselling  

(c) Parent Consultation  

(d) None of the above  

Ans.(a) 

 

Q21. Choose the correct statement of the following-  

1. The majority of people suffering from depression 

and anxiety are reluctant to seek professional help  

2. The child develops a sense of belongingness 

when involved in community service 

(a) Only 1 is correct  

(b) Only 2 is correct  

(c) Both are correct  

(d) Both are wrong  

Ans.(c) 

 

Q22. The agency that links school and community-  

(a) Parent Teacher Association  

(b) Alumni Association  

(c) School management association  

(d) None of the above  

Ans.(c) 

 

Q23. For effective functioning, primary school 

teachers are expected to be efficient in organizing:  

(a) Indoor and outdoor sports, language clubs and 

field work  

(b) play projects, discussions, dialogues, 

observations and visits  

(c) laboratory work, group activities and 

presentations  

(d) fun fairs, science exhibitions and projects  

Ans.(b) 
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Q24. Which of the following entities recommends 
basic safety assurance of students in school?  
(a) School organisations  
(b) Central Government  
(c) Health Ministry  
(d) World Health Organization (WHO)  
Ans.(d) 
 
Q25. What do you understand by ‘promote the 
child’s mental development? 
(a) Interaction, stimulation and play 
(b) Interaction within the community, at health 
clinics, at school 
(c) Providing emotional security, socialization, 
nurturing and giving affection to the child 
(d) Keeping the child safe and free from harm, 
providing shelter and clothing, preventing and 
attending to illness 
Ans.(a) 
 
Q26. What is the meaning of the Latin verb 
“Adolescere”? 
(a) Cognitive development in teenagers 
(b) Affective development in teenagers 
(c) Growing up in the right way  
(d) To grow to become mature 
Ans. (d) 
 
Q27. What does physical development mean in case 
of adolescents?  
(a) Maturation process in which an individual’s 
cognitive happens and individual becomes society 
acitve 
(b) Maturation process that leads to various 
physical changes: growth is accelerated; bodily 
shape changes; primary and secondary sexual 
characteristics become marked 
(c) Maturational process where emotional changes 
happen 
(d) Maturation process in which the individual 
grows tall and strong 
Ans. (b) 
 
Q28. Which period of development comprises each 
of the following characteristics: establishment of 
independence, development of identity, and 
abstract thinking? 
(a) Middle childhood 
(b) Late childhood 
(c) Adolescence 
(d) Early Adulthood 
Ans.(c) 

Q29. Dyslexia is difficulty in ____________ 
(a) reading 
(b) writing 
(c) speaking 
(d) none of these 
Ans.(a) 
 
Q30. Students learn meaningfully and effectively 
when teacher uses ___________ approach for teaching 
learning. 
(a) Behavioristic 
(b) Constructive 
(c) Decontexualized 
(d) Mechanical 
Ans.(b) 
 

KVS PRT EVS Memory Based 
Questions 

 
Q1. Changpa are tribal living on the mountains. 
They use big cone-shaped tents which protect the 
changpas from extreme cold. The design of these 
tents is 
(a) more than a thousand years old 
(b) about 800 years old 
(c) about 100 years old 
(d) very recent/modern 
Ans.(a) 
 
Q2. A train departs from New Delhi Railway station 
at 5: 30 on 28 September 2023 and reaches Chennai 
at 21: 50 the next day. What is the travel time taken 
by the train? 
(a) 40 hours 20 minutes 
(b) 45 hours 10 minutes 
(c) 42 hours 20 minutes 
(d) 41 hours 30 minutes 
Ans.(a) 
 
Q3. Consider the following statements about 
elephants and tell which of the following 
statements are true? 
(A) Elephants do not rest very much, they sleep 2 to 
4 hours only in a day. 
(B) An adult elephant can eat more than 200 kg of 
leaves and twigs in a day. 
(C) They love to play with mud and water, the mud 
keeps their skin cool. 
(D) In the elephant herd, the oldest female elephant 
decides everything. 
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(a) A, B and C 
(b) B, C and D 
(c) C, D and A 
(d) A, B and D 
Ans.(c) 
 
Q4. Read the following description of an animal and 
identify it. “It looks like a bear, but it is not. It spends 
almost 17 hours a day sleeping while hanging 
upside down on a tree branch. It eats the leaves of 
the same tree on which it lives. It lives for about 40 
years.” 
(a) Chimpanzee 
(b) Panda 
(c) Sloth 
(d) Langur 
Ans.(c) 
 
Q5. Which among the following bird makes their 
nest among the thorn of cactus? 
(a) Indian Robin 
(b) Barbet 
(c) Dove 
(d) Weaver Bird 
Ans.(c) 
 
Q6. Which of the following vitamin is most easily 
destroyed vitamin while cooking? 
(a) Vitamin B12 
(b) Vitamin A 
(c) Vitamin B4 
(d) Vitamin C 
Ans.(d) 
 
Q7. Choose the correct sequence of forests with 
increasing order of protection according to Indian 
Forest Act of 1972? 
(a) Protected, Reserve, Village 
(b) Village, Reserve, Protected 
(c) Reserve, protected, Village 
(d) Village, Protected, Reserve 
Ans.(d) 
 
Q8. The state/Union Territory of our country which 
has a coast on the Arabian Sea is 
(a) Andhra Pradesh 
(b) Karnataka 
(c) Puducherry 
(d) West Bengal 
Ans.(b) 

Q9. Which type of irrigation is used to minimize 

evaporation and runoff? 

(a) drip irrigation 
(b) sprinkler irrigation 

(c) lateral move irrigation 

(d) surface irrigation 

Ans.(a) 
 

Q10. Identify the role of water in our body: 

(i) it helps in digestion of food 

(ii) it facilitates the absorption of nutrients in the 
blood 

(iii) It helps in the distribution of minerals to 

various body parts 

(iv) Water helps maintaining body temperature by 

sweating  
(a) I, II 

(b) II, III 

(c) I, III, IV 

(d) All of the above 
Ans.(d) 

 

Q11. __________ is the longest tributary of River 

Narmada. 
(a) Dudhi 

(b) Tawa 

(c) Kotar 

(d) Hiran 

Ans.(b) 
 

Q12. In which of the following parts of our country 

do people grow eatables such as tapioca and 

coconut in their courtyards and they find food 
prepared using these to be very tasty? 

(a) Andhra Pradesh 

(b) Assam 

(c) Goa 

(d) Kerala 
Ans.(d) 

 

KVS PRT Maths Memory Based 

Questions 
 

Q1. 1/30, 1/12, 1/6, 1/20, arrange in ascending 
order. 

Ans. 1/6, 1/12, 1/20, 1/30 
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Q2. Find the two digit prime numbers, in which 

both digits are also prime numbers: 

Ans. – 23 

 

Q3. What happens to the area of a square if its side 

is doubled : 

Ans. – Are of square becomes 4 times. 

 

Q4. In a school 44% students are girls and total 

number of boys are 448 find the number of girls in 

that school? 

Ans. 352 

 

Q5. If a boy is walking on a side ways of a square 

shape field, then find the are of the field? 

Ans. – 250 m 

 

Q6.  If a Boy is going to school with a speed of 
6km/hr to cover the distance of 4km to reach the 
school. If he returns with the speed of 12km/hr 
then find his average speed? 
Ans. – 8 km/hr 
 
Q7. 8 bananas for 24 rupees then the price of 66 
bananas? 
Ans. – 198 /- 
 
Q8. Product of two numbers is 1728, and HCF is 12 
then find its LCM ? 
Ans. - 144 
 
Q9. Area of a Square faced side in a cuboid is 36 cm2. 
And edge of the rectangular side is 12 cm, then find 
the area of the rectangular face. 
Ans. – 72 cm2
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